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𝑭𝒖𝒏𝒄𝒕𝒊𝒐𝒏 𝑫𝒐𝒎𝒂𝒊𝒏 𝑹𝒂𝒏𝒈𝒆 

y = sin x (−∞, ∞) [−1,1 ] 

y = cos x (−∞, ∞) [−1,1 ] 

y = tan x =
sin x

cos x
 𝑥 ≠

𝜋

2
+ 𝑛𝜋 (−∞, ∞) 

y = csc x =
1

sin x
 

𝑥 ≠ 𝑛𝜋 (−∞, −1] ∪ [1, ∞) 

y = sec x =
1

cos x
 𝑥 ≠

𝜋

2
+ 𝑛𝜋 (−∞, −1] ∪ [1, ∞) 

y = cot x =
cos x

sin x
 𝑥 ≠ 𝑛𝜋 (−∞, ∞) 

 

𝐈𝐧𝐯𝐞𝐫𝐬𝐞 𝐓𝐫𝐢𝐠 𝐅𝐮𝐧𝐜𝐭𝐢𝐨𝐧𝐬 

    
 

𝑭𝒖𝒏𝒄𝒕𝒊𝒐𝒏 𝐑𝐞𝐬𝐭𝐫𝐢𝐜𝐭𝐞𝐝 𝐃𝐨𝐦𝐚𝐢𝐧 𝑹𝒂𝒏𝒈𝒆 𝑰𝒏𝒗𝒆𝒓𝒔𝒆  𝑫𝒐𝒎𝒂𝒊𝒏 𝑹𝒂𝒏𝒈𝒆 

y = sin x [−
𝜋

2
,
𝜋

2
] [−1,1 ] y = sin−1 x [−1,1 ] [−

𝜋

2
,
𝜋

2
 ] 

y = cos x [0, 𝜋] [−1,1 ] y = cos−1 x [−1,1 ] [0, 𝜋 ] 

y = tan x (−
𝜋

2
,
𝜋

2
) (−∞, ∞) y = tan−1 x (−∞, ∞) ( −

𝜋

2
,
𝜋

2
) 

y = csc x [−
𝜋

2
, 0) ∪ (0,

𝜋

2
] (−∞, −1] ∪ [1, ∞) y = csc−1 x (−∞, −1] ∪ [1, ∞) [−

𝜋

2
, 0) ∪ (0,

𝜋

2
] 

y = sec x [0,
𝜋

2
) ∪ (

𝜋

2
, 𝜋] (−∞, −1] ∪ [1, ∞) y = sec−1 x (−∞, −1] ∪ [1, ∞) [0,

𝜋

2
) ∪ (

𝜋

2
, 𝜋] 

y = cot x ( 0, 𝜋) (−∞, ∞) 
 

y = cot−1 x (−∞, ∞) ( 0, 𝜋) 

 


